St. PBN PUBLIC SCHOOL
UNIT TEST-I
CLASS - VII
ENGLISH
SAMPLE PAPER
Time - 2 hours . M.M-60

INSTRUCTIONS:
* All questions are mandatory.

* Read the questions carefully before attempting.

SECTION- A (READING)
1. Read the passage given below and answer carefully: (1X5=5)
The Story of Marie Curie

Marie Curie was a famous scientist. She was born in Poland in 1867. Her original name was
Maria Sktodowska. Marie moved to Paris to study physics and mathematics at the Sorbonne
University. She was very dedicated to her studies.

In Paris, she met Pierre Curie, who was also a scientist. They got married and started working
together on radioactivity. Radioactivity is a process where atoms release energy. Marie and
Pierre's research was groundbreaking.

Together, they discovered two new elements: polonium and radium. These elements are
highly radioactive. Their discovery changed science and medicine. Marie Curie became the first
woman to win a Nobel Prize. She won the Nobel Prize in Physics in 1903, sharing it with her
husband and another scientist, Henri Becquerel. Later, she won another Nobel Prize in
Chemistry in 1911, making her the first person to win Nobel Prizes in two different sciences.

Marie Curie's work was not easy. She faced many challenges, but she never gave up on her
dreams. She died in 1934 from a disease caused by her long exposure to radioactivity.
However, her contributions to science continue to inspire people around the world.

Questions:
* Where was Marie Curie born?

* What did Marie and Pierre Curie discover?
Page 1 of 27



* What is radioactivity?
* How many Nobel Prizes did Marie Curie win, and in what fields?
* Assertion & Reasoning Question
* Assertion (A): Marie Curie was the first woman to win a Nobel Prize.
* Reason (R): She discovered two new elements.
* Options: (Same as original paper)
* A) Both A and R are true, and R is the correct explanation of A.
* B) Both A and R are true, but R is not the correct explanation of A.
* C) Ais true, but R is false.
* D) Ais false, but R is true
2. Read the given poem and answer the following questions: (1X5 =5)
The Road Not Taken by Robert Frost
Two roads diverged in a yellow wood,
And sorry | could not travel both
And be one traveler, long | stood
And looked down one as far as | could
To where it bent in the undergrowth;
Then took the other, as just as fair,
And having perhaps the better claim,
Because it was grassy and wanted wear;
Though as for that the passing there
Had worn them really about the same,
And both that morning equally lay

In leaves no step had trodden black.
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Oh, | kept the first for another day!
Yet knowing how way leads on to way,
| doubted if | should ever come back.
| shall be telling this with a sigh
Somewhere ages and ages hence:
Two roads diverged in a wood, and |—
| took the one less traveled by,
And that has made all the difference.
Questions:
* What is the setting of the poem?
* Why did the speaker feel sorry?
* Which road did the speaker choose, and why?
* What does the road in the poem symbolize?
* Assertion and Reason:
* Assertion (A): The speaker in the poem took the road less traveled.
* Reason (R): The speaker knew he could always come back to the other road.
* Options: (Same as original paper)
* a) Both A and R are true, and R explains A.
* b) Both A and R are true, but R does not explain A.
*¢) Ais true, but R is false.
*d) Ais false, but R is true.
SECTION- B (GRAMMAR)

3. Answer the following questions related to Sentence Structure: (1X4 = 4)
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a) ldentify the type of sentence (Simple, Compound, or Complex): Although the sun was
shining, it was cold.

b) Rearrange the words to form a meaningful sentence: the / cat / quickly / tree / climbed /
the

c) Identify the subject and predicate in the sentence: The tall building swayed in the wind.

d) Combine the following simple sentences using a suitable conjunction: The movie was
interesting. We enjoyed it.

4. Answer the following questions related to Clauses: (1X4 = 4)
a) ldentify the noun clause in the sentence: | wonder if they will come.

b) Complete the sentence using an adjective clause: The book, ,is very
interesting.

c) Rewrite the sentence by replacing the underlined part with an adverbial clause: He left
*after the sun set*.

d) Combine the following sentences into one complex sentence using a relative clause: The
man is wearing a hat. The man is my uncle.

5. Answer the following questions related to Determiners: (0.5 X8 =14)

a) Fill in the blank with the correct determiner: | need ___ help with my homework. (some /
any)

b) Choose the correct article: Heis ___ honest man. (a / an)

c) Identify the determiner: My car is parked outside.

d) Choose the correct quantifier: Thereis ___ milk in the bottle. (a little / a few)
e) Rewrite the sentence using a different quantifier: She has many friends.

f) Identify the quantifier: Each child received a gift.

g) Fill in the blank with a possessive determiner: Thisis ___ book. (my/mine)

h) Identify the demonstrative determiner: These flowers are beautiful.

6. Answer the following questions related to Pronouns: (1X4=4)
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a) ldentify the pronoun and its type: She herself baked the cake.

b) Choose the correct pronoun: The teacher asked __ to complete the assignment. (us/we)

c) Replace the underlined noun with a suitable pronoun: The children played with *the toys*.

d) Fill in the blank with a suitable relative pronoun: This is the house | grew up in.
SECTION-C (WRITING)

7. Write a short biography of Dr. APJ Abdul Kalam in 100-120 words. Include details about his
early life, education, contributions, and achievements taking help from given pointers.

(7)

* His full name: Avul Pakir Jainulabdeen Abdul Kalam, and his birthplace: Rameswaram, Tamil
Nadu.

* His title: "Missile Man of India" (for his significant contribution to India's missile
development programs).

* His association with key organizations: DRDO (Defence Research and Development
Organisation) and ISRO (Indian Space Research Organisation).

* His role as the 11th President of India (2002-2007).
* The description "People's President," reflecting his widespread popularity.

* His influence as an inspiration for young people through his focus on education and
innovation.

* Key achievements:
* Played a crucial role in India's missile development.
* Awards like Bharat Ratna, Padma Bhushan, and Padma Vibhushan.

8. You are the Head Boy/Head Girl of your school. Write a notice informing students about an
inter-school debate competition to be held next week. Include details like date, time, venue,
and registration process. (6)

9. Write a letter to the editor of a newspaper expressing your views on the importance of
reading books and its impact on young minds. (7)
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SECTION-D LITERATURE
(Same as before)
10. R ead the lines and answer the following questions- (1x3=3)
When skies were dark and winds ran wild,
And rivers danced with joy, beguiled,
Some moment when the earth stood still,
| bore the weight of fate’s own will.
a) Name the poem and the poet.
b) What does the poet mean by "the devil’s walking parody" in the poem?
c) How does the donkey describe its physical appearance in the poem?
11. Answer the following questions in brief- (2X5=10)
a) Who became equals in the story The Story of Equals, and how did it happen?

b) Why did Drona go to Parasurama, and why was Parasurama unable to give anything to
Drona?

c) Why was the king displeased with the bird?

d) What do you think the gilded cage is a metaphor for?

e) When was the donkey born? Describe the moment in your own words.
12. Answer the given question in detail:- (3)

a) What is the central theme of the chapter 'The Caged Parrot '.
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St. PBN PUBLIC SCHOOL
UNIT TEST-I
CLASS - VII
MATHEMATICS
SAMPLE PAPER
Time: 2 Hours M.M: 60
General Instructions:
e All questions are compulsory.
e Question paper consists of five parts.
e Part-I contains 10 Multiple Choice Questions, each carrying 1 mark.
e Part-11 contains 9 questions each carrying 2 marks.
e Part-111 contains 4 questions each carrying 3 marks.
e Part-1V contains 3 questions each carrying 4 marks.
e Part-V contains 2 case study questions each carrying 4 marks.

Part-I
Q.1 Choose the correct option and write in your answer sheet (1X 10=10)
I.  The value of |-16] + |9]
@7 (c) 25
(b) -7 (d) -25
ii.  The reciprocal of 4 will be
1
(a) 5 (c)4
(b) = (d) -4
iii.  The lines that do not intersect or meet each other at any point are known as
(a) intersecting lines (c) transversal
(b) parallel lines (d) none of these
iv.  Two squares are said to be congruent if they have
(a) same sides (c) same perimeter
(b) same area (d) all of these
v. (42)+-  =-1
(@) -1 ()1
(b) -42 (d) 42
vi. 4.04x5=
(@) 220 (c) 2020
(b) 2.20 (d) 20.20
vii.  The angle 183¢ is classified as
(@) reflex angle (c) obtuse angle
(b) acute angle (d) straight angle
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2. .
viii. Convert 2; into decimals.

() 0.2 (c) 0.5
(b) 2.4 (d) 0.24

In each of the following questions, an Assertion (A) and a corresponding Reason (R)
supporting it are given. Study both the statements and state which of the following
option is correct.

IX. Assertion (A): The multiplicative inverse of% is% :

Reason (R): The reciprocal of an improper fraction is a proper fraction.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true, but R is not the correct explanation of A.
c) Ais true, but R is false.
d) A is false, but R is true.

X. Assertion (A): All squares are congruent.
Reason (R): Two plane figures are congruent if they have the same shape and size.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true, but R is not the correct explanation of A.
c) Ais true, but R is false.
d) A is false, but R is true.

Part 11
Solve the following questions: (2X9=18)
2. Write four consecutive integers less than -4.

3. Solve: 2 of =,

3 14
4. Two supplementary angles are in the ratio of 7: 8. Find both the angles.
5

. If ALMN = A PQR by the SSS congruence rule. Find the lengths of sides PQ and
QR.

L\
A

St N
M 6 cm

R Q
>
%
it

6. Arrange in descending order:
2 7 3 6 1

45’ 15" 5’ 9' 3
7. 45% of an angle is the complement of 63°. Find the angle.
8. ldentify the congruence condition and write the congruence rule in symbolic form.

S - T

_— s L)
9. Find the complement of the following:
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(a) 85°

(b) 13°

10.Two sides of a right-angled triangle are 6 cm and 8 cm. Find the length of its
hypotenuse.

Part 111

Solve the following questions: (3X4=12)

11.In a class test, containing 40 questions, marks are given for every correct answer
and -2 are given for every incorrect answer. Neeraj attempted all questions out of

which only 32 were correct. Find the score of Neeraj.
12.(a) The cost of 1 m cloth is ¥58.90. What is the cost of 12.56 m cloth?
(b) A boy bought 6 dozens of bananas for *302.40. Find the cost of each banana.
13.In the given figure, | || m and t is a transversal. If £1 =58°, then find all the other

angles.

K
TS ST

14.If A ABC = A XYZ, write all the corresponding congruent parts of the triangles.

Part -1V
Solve the following questions: (4X3=12)
15.(a) The quotient of division of two integers is 29 and the remainder is 2. If the
divisor is 6, find the dividend.
(b) Simplify: 11 +2 x 3-4 +2 {2 x (3-5) + 14}.
16.1In the given figure, AB || CD and EF is a transversal that intersects both AB and
CD at G and H respectively. Find ZAGE and 2GHD.

17.In the given figure, A ABE = A DCE, find the values of x and y.

1
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Part -V

Case study questions. (4X2=8)

18. Following number line shows the temperature in degree celsius (°C) at different places
on a particular day.

Lahulspiti Srinagar Shimla Ooty Bangalore

(a) Observe this number line and write the temperature of the places marked on it.

(b) What is the temperature difference between the hottest and the coldest places among the
above?

(c) What is the temperature difference between Lahulspiti and Srinagar?

(d) Can we say temperature of Srinagar and Shimla taken together is less than the
temperature at Shimla?

19. Under a government health initiative, free vaccination drives are conducted in rural areas.
The scheme covers 3/5 of the total population in a village. Let's consider a village with a
population of 1500 people.

(a) How many people in the village are covered under the free vaccination drive?
(b) Find the fraction of the population that is not covered by the scheme.

(c) If each vaccine dose costs Rs. 50, find the total cost spent for the vaccination of 1500
people.

(d) Convert the coverage fraction into decimal.
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St. PBN PUBLIC SCHOOL
UNIT TEST-I
CLASS VII
SCIENCE

SAMPLE PAPER

Time: 2 Hours MM: 60

GENERAL INSTRUCTIONS:

1. Question paper consists of 6 Sections.

2. SECTION A — contains 10 multiple choice questions and 2 Assertion Reason questions
carrying 1 mark each.

3. SECTION B - contains 5 short answer questions carrying 2 marks each.

4. SECTION C - contains 5 short answer questions carrying 3 marks each.

5. SECTION D- contains 3 value based question carrying 2.5 marks each.

6.SECTION E- contains 3 HOTS based question carrying 2.5 marks each.

7.SECTION F- contains 2 case study based questions carrying 4 marks each.

8.. All questions are compulsory

SECTION A

Q1 Choose the correct option and write in your answer sheet: (1x12=12)

1) 1. What is the process called when animals take in food and break it down into simpler
substances?

a) Respiration b) Photosynthesis c) Digestion d) Excretion
2) Convert 72 km/h to meters per second:
(@) 72 m/s (b) 20 m/s
(c) 36 m/s (d) 12 m/s

3) Symbol of Aluminium is

i) An i) Al iii) Um iv) Ni
4) Which of these countries produces wool?

1) Greenland i) Poland

i) South Africa Iv) Jamaica.

5) Plants prepare their food by using energy from:

a) Sun b) Soil c) Water d) Air

6) In the absence of which of the following, will photosynthesis not occur in leaves?
(i) Guard cells (ii1) Vacuole

(if) Chlorophyll (iv) Space between cells
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7) Which of the following is an example of a herbivore?
a) Lion b) Elephant c)Snake d) Tiger

8) Observe the given figure

& A Al
PSS
o

The time period of a simple pendulum is the time taken by it to travel from
(i) Ato B and back to A. (i) Bto A,AtoBand Bto O.
(i) O toA, Ato B and B to A. (iv) Ato B.
9) Which of the following is a variety of silk?
(i) Tussar silk (i1) Mulberry silk
(iii) Muga silk (iv) All of the these

10) What is released as a by product of photosynthesis?
a) Carbon dioxide b) Oxygen c¢) Water vapor d) Glucose

Below questions are based on Assertion-Reasoning . Choose the correct option.

1) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A).

i) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of
assertion (A).

i) Assertion (A) is true but reason (R) is false.

Iv) Assertion (A) is false but reason (R) is true.

11) Assertion: Jute is a biodegradable fiber.

Reason: Jute is obtained from plants.

12) Assertion- Our mouth has the salivary glands which secrete saliva.
Reason- The saliva does not break down the starch into sugar.
SECTIONB
Q2.Answer the following questions in brief (2x5=10)
a) Distinguish between an element and a compound, giving one example of each
b) What is the difference between Atom and Molecule ?
c) Explain the health hazards faced by workers of wool industry.
d) Define speed and give an example of an object moving with a constant speed.
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e) Write the function of
1) Guard cell ii) Stomata

SECTION C
Q3. Answer the following questions in detail (3X5=15)
a) Describe the motion of an object moving in a circular path. What is the force responsible
for this motion?

b) Write the chemical formula of following :

1) Carbon Dioxide i) Sodium Chloride 1ii) Zinc Hydroxide
¢) What is the difference between natural fibers and synthetic fibers? Give two examples of
each.
d) Explain the difference between a physical change and a chemical change. Give two
examples of each.
e) Write the chemical symbol of

1) Hydrogen i) Carbon Iii) Boron

SECTIOND
Q4. Value based question. (2.5x3=7.5)

a) Sania got upset on learning that for obtaining 1 kg of raw silk around 5,000 cocoons
are killed. But her mother explained her that silkworms are also conserved in this
process for obtaining silk next time. Also it is the source of income to many rural and
needy persons.

1) Why is silk famous?

1) If you get an option to select between a silk dress and a dress made of synthetic
fibre which one will you select and why?

1) What value of Sania is shown here? (0.5+1+1)

b) In a birthday party, Ram filled his plate with oily and sugary food. His elder sister
Sarita on seeing this interrupted him. She told him that it is not good to eat too much
of this kind of food. She asked him to share that plate with his friends and suggested to
include some vegetables and salads also.

1) Why is eating oily and sugary food not good for health?
1) What is the effect of sugary food on our teeth? How can we prevent it?
1) What value of Sarita is shown here? (0.5+1+1)

c) A farmer is using chemical fertilizers to increase crop yield, but this is harming the
soil and groundwater. What values should guide the farmer's decision-making, and
what are the potential consequences of continued chemical fertilizer use?

1) Why is the farmer using chemical fertilizers?

I)What is the negative impact of the farmer's use of chemical fertilizers?

1i)What values should guide the farmer's decision-making regarding fertilizer use?
(0.5+1+1)

Page 17 of 27



SECTION E
Q5 High Order Thinking Skills (HOTYS) (2.5X3=7.5)
a) How do plants obtain their nutrients?

b) 1) Write a balanced chemical equation for Mg+ O,— MgO

1) What is valency?
¢) Plot a distance-time graph of two cars (A and B) which are moving with the same speed of
20m/s but are separated by a distance of 10 m. How will the graph look like?

SECTION F

Q6. Case study based questions
Read the passage and answer the following questions. (4x2=8)

A group of Class 7 students went on a nature walk with their science teacher. During the walk,
they observed a green patch on the bark of trees and some yellowish pipe-like structures
climbing on other plants. The teacher explained that the green patches were algae, which are
autotrophic organisms, while the yellow pipe-like structures were Cuscuta, a parasitic plant.
One curious student asked if all plants can make their own food. The teacher said no, and
explained that though most plants are autotrophs, some depend on other organisms for food.
She also explained the process of photosynthesis, its importance, and the role of chlorophyll and
sunlight in the process.

1. What is the mode of nutrition in green plants?

2. Name the pigment essential for photosynthesis.

3. What type of nutrition is observed in Cuscuta? Explain briefly.
4. Why can't Cuscuta prepare its own food?

b) Read the passage and answer the following questions.

Ria was eating a roti with dal when her elder brother asked, "Do you know how the food you're
eating gets digested in your body?" Curious, Ria said no. Her brother explained that digestion
starts in the mouth, where teeth break down food into smaller pieces and saliva mixes with it.
Then, the food passes through the food pipe into the stomach, where it is mixed with digestive
juices. From the stomach, it goes to the small intestine, where digestion is completed and
nutrients are absorbed. The undigested part moves into the large intestine, and finally, the waste
is removed from the body. Ria was amazed and wanted to learn more about how different
animals eat and digest their food.

1. Name the organ where complete digestion of food takes place.

2. What is the function of the large intestine in humans?

3. Why do cows chew cud? Name this process.

4. How is nutrition in amoeba different from that in humans? (Give one point)
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St. PBN PUBLIC SCHOOL

UNIT TEST- I
CLASS - VII
SOCIAL SCIENCE
SAMPLE PAPER
Time: 2 Hours MM.60
GENERAL INSTRUCTIONS:
1. All questions are compulsory.
2. Do as directed.
Q1. Fill in the blanks with suitable words. (1x3=3)
1) In Arabic and Persian literature of the medieval period, the Indian subcontinent is
referred to as :
i)  The innermost layer of the Earth is known as :
i) Is the form of government in which supreme authority is vested with a single
hereditary ruler.
Q2. Choose the correct option- (1x5=5)
1) Which one of them is a literary source to study medieval history
a) coins b) manuscripts
c) artefacts d) monuments and buildings

i) Assertion(A) : Environmental degradation is the process by which the environment is
increasingly polluted, exploited and destroyed.
Reason (R) : Human beings are modifying the environment to satisfy their ever-
increasing wants.
a) Aistrue but R is false.
b) Ais false but R is true
c) Both A and R are true and R is the correct explanation of A.
d) Both A and R are true but R is not the correct explanation of A.

1ii) A group of people who voluntarily decide to enter politics aspiring to run the government
if elected to power is called a

a) Campaign b) Election Commission
c) Political party d) Parliament
iv) Warriors and chiefs who served under the rulers were called

a) Urs b) Samantas

c) Paramaras d) Chalukyas
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v) Assertion (A) : The inner core of the Earth is solid.

Reason(R) : The core is frozen.

a) Alistrue but R is false.

b) A s false but R is true.

c) Both A and R are true and R is the correct explanation of A.

d) Both A and R are true but R is not the correct explanation of A.

Q3. State whether the following statements are True or False: (1x4=4)

a. Epigraphy is the study of inscriptions.

b. India has a single-party system.

c. Legislature is concerned with the making of laws.

d. Agquariums, terrariums and agricultural land are artificial ecosystems.

Q4. Look at the picture given below and answer the following questions. (1x5=5)

a) ldentify the rock given in the picture. (1)

b) How is the rock shown above formed? (2)

c) Name any two places where this type of rock is formed. (2)
Q5. Answer the following questions in one word / few words. (1x5=5)

a) Which event marked the end of the medieval period of Indian history?
b) Name any one centre of learning that flourished under the Palas.

c) What is hydrosphere?

d) Name any one form of Totalitarian government.

e) Which body conducts elections in India?

Q6. Answer the following questions in brief. (2x4=8)

a) What was a mandalam under Chola rule?
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b) Explain any two importance of hydrosphere.
¢) What is a constitution?
d) What is a constituency?

Q7. Answer the following questions. (3x4=12)

a) Explain Natural and Human-made environments with examples.(any three points)

b) Explain how inscriptions and coins serve as sources of history of medieval India.

¢) What do you understand by Totalitarian government? Name two types of Totalitarian
government.

d) Explain the working of the first-past-the-post system. Why it does not allow for a truly
representative result?

Q8. Answer the following questions in detail (5x3=15)

a) Explain with examples how inscriptions and coins serve as a source of the history of
medieval India.

(OR)
Who were the Rajputs? Describe the rule of any two Rajput dynasties in early medieval
India. (1+4)

b) Why do you think fossil and fossil fuels are not found in igneous or metamorphic rocks?

(OR)
What is an atmosphere? How it is useful to humans? (2+3)
¢) What is a Coalition government? What are pros and Cons of having a Coalition
government? (any three) (2+3)
(OR)

What are the key elements of a democracy? Why do we say that people are the highest
political authority in a democracy?

Q9. Locate and label the following on the given outline map of India.
(1) Kannauj

(it) Ajmer

(iii) Dhar
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St. PBN Public School, Gurugram
Unit Test- 1
Class - VII
Subject - Computer

Sample Paper
TIME: 2 Hours MM: 40

NAME: ROLL NO:

General Instructions:

1. All questions are compulsory.
2. Read each question carefully.

Q.1 Tick the correct option (1x5=5)
1. To select entire worksheet, press the key combination.
a) Ctrl+A b) Ctrl+C c) Alt+A

2. Which function returns the addition of numeric values in a range?

a) COUNT() b) SUM() c) MAX()

3. Which function finds the largest smallest number in a range?

a) AVERAGE() b) Apostrophe ¢) Exclamation

4. Which key combination is used to get the sum of the values of adjacent cells?

a) Shift+s b) Ctrl+’ c) Alt+=

5. To use the sheet reference, which address is appropriate out of the following options?
a) D4!sheetl b) Sheet,D4 c) Sheet1!D4

Q.2 Fill in the blanks: (1x5=5)
1. The cell address in a formula is also called

2. To minimize the worksheet, press key combination.

3. Formulas are used to perform

4. To enter date and time together separate them with a

5. and buttons appear on the formula bar.

Q.3 State True or False: (1x5=5)
1. Copying refers to moving data from one place to another.
2. To insert a new column in excel sheet, select Add button on the insert tab.
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3. The error #VALUE occurs if the number is divided by zero.
4. You cannot rename the sheet name.
5. Formulas cannot be edited in formula bar.

Q.4 Assertion and Reason-

In the following questions a statement of assertion is followed by a statement of
reason select the correct answer (1x2=2)

1. Assertion: To make the entry of digits as text , begin the entry with an apostrophe(’)
Reason: apostrophe indicates the string or text value.
a) Both Assertion (A) and Reason (R) are true and Reason (R) is a correct explanation
of Assertion (A).
b) Both Assertion (A) and Reason (R) are true but Reason (R) is not a correct
explanation of Assertion (A
c) Assertion (A) is true and Reason (R) is false.
d) Assertion (A) is false and Reason (R) is true.

2. Assertion (A): BEDMAS rule is used to evaluate mathematical expression.
Reason (R): Excel performs various calculations and solve complex expressions.
a) Both Assertion (A) and Reason (R) are true and Reason (R) is a correct explanation
of Assertion (A).
b) Both Assertion (A) and Reason (R) are true but Reason (R) is not a correct
explanation of Assertion (A)
c) Assertion (A) is true and Reason (R) is false.
d) Assertion (A) is false and Reason (R) is true.

Q.5 Answer the following in one word or one sentence. (1x5=5)
1. Which button is used to Redo the action?

2. What is the extension of excel file?

3. What will be the cell address of 16" row 7™ column?

4. Write an example of formula.

5. In which group paste option is available in excel program?

Q.6 Answer the following in short- (2x3=6)
1. Explain any two functions with example.

2. What are formulas?

3. Write any two features of excel.
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Q.7 Answer the following questions:[Attempt any 3] (3x3=9)
1. Explain the method to insert multiple columns in a worksheet.

2. How will you select a range and non-adjacent cells in a worksheet?

3. What is the function of undo and redo commands?

4. Explain cell address with the help of example.

Q.8 Case study base questions. (3)

An Excel worksheet is a grid-like workspace within a Microsoft Excel workbook where users
can enter, manipulate, and analyze data. It consists of rows numbered from 1 to 1,048,576
(Excel 2019), and columns labeled from A to XFD. Each cell within the grid can contain
various types of data, such as text, numbers, dates, formulas, or functions. Worksheets are
versatile tools used for organizing information, performing calculations, creating charts,
and generating reports. They are commonly utilized in diverse fields, including finance,
education, science, and business, for tasks ranging from simple data entry to complex data
analysis.

Answer the following questions-

1. What are the worksheets? 1
2. How many types of data can be entered in excel sheet? 1
3. What are the uses of worksheets? 1
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